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E) apply Your skills

Find the degree of each

1. 4y Monomig|,
2. 7¢3
5. 8ab3 e 3. -16 4. 6y%w8
66 7. —ox 8. 11
Name eacp e
x .

9. 5x2 5 Pression based on it degree and number of terms.

* T <X+ 3
2.3 4 s 10. 32 +5 iy T2 =12

* 13, -15 14. w? + 2
Write each
Polynomial j

degree and ny 3; bz:‘(‘)‘;lt:: lSnt:l.ndard form. Then name each polynomial based on its
15. 4 — 32
18. 9.2 3x 16. 4x + 9 17. ¢2 — 2 + 4c

- 92 — 1122 _

T H3z-5 19,y - 73 4+ 15,8 20. —10 + 4q* — 8q + 3¢
Simplify each sum,
21. 2
- 22. 3k - 8 23, w24 ow—4
—_— St T+ 12 + Tw? — 4w + 8

24. (8x% + 1) + (1242 + 6) 25. (g* + 4g) + (9g* + 7g)
26.(a> + a+ 1) + (Sa2 — 8a +20)  27. (7y° — 3p2 + dy) + (8% + 3?)

Simplify each difference.

28, 6¢c-—5 29, 2b + 6 30. 7h2+4h— 8
~ (4c +9) —(b +5) — (302 — 2h + 10)

31. (17n* + 2n3) — (10n* + n3) 32. (24x5 + 12x) — (9x° + 11x)
33. (6w2 — 3w + l) ~ (w2 +w-9) 34, (=5x* +x%) - (3 + 8x2 — x)

Simplify. Write each answer in standard form.

35. (7y2 — 3y + 4y) + (8 + 3y2 + dy) 36. (2x3 = 5x2 = 1) — (8x3 + 3 — 8x?)
37, (=723 + 3z — 1) — (=622 + 2+ 4) 38.(7a% = a + 3d%) + (807 = 3a — 4)

@ Geometry Find the perimeter of each figure.

Need Help?

ecall that the

erimeter of a figure is
¢ sum of all the sides
Fthe figure.

39. 9c — 10 40. 9x

; i
5x+1/ 8x — 2

5¢ +2 17x — 6

Error Analysis Kwan’s work is shown below. What mistake did he make?

(o2 —4x —2)=Bx2 —3x +1—2x2—4x — 2
(x2 = 3x +1) (et —Bx2 —2x2—Bx —4x +1—2

=5X2"'7X—1

|
|
Lesson 9-1 Adding and Subtracting Polynomials 459 l

pre

 r——ERCTE I

¥



A\
%4

Simplify. Write each answer in st

43, (x3 + 3x) + (12x — x%)

o TTT——

2. a. Writing Write the definition of each .word_. Use a dictionary ifnec(
- ram binocular trlcu?,pld. polyglog
b rgs:;?.gE;ded Find other words that begin with mono, bi, ;|

v . 5 rp()[‘
¢. Do these prefixes have meanings similar to those in Mmathem,

ticgy”
andard form.

44. (68 — 7¢%) — (4¢ + Dol

4 _
4 _ 539y — (—8h5 + h10) 46. (—4" — 9t + 6) + (134
45, 2h* - 5h7) — ( 5,

47. 8b — 667 + 3b%) + (2b7 = 50°)

() G

48. (11 + &2 = 6k%) - (2 7

eometry Find each missing length.

49, Perimeter = 25x + 8 50. Perimeter = 237 - 5

5x + 2

51. Critical Thinking Is it possible to write a binomial with degree (7 Explajy

G Challenge 52. a. Write the equations for line P and line Q.

Use slope-intercept form.

b. Use the expressions on the right side of each
equation to write a function for the vertical
distance D(x) between points on lines P and
Q with the same x-value. =

¢. For what value of x does D(x) equal zero?

d. Critical Thinking How does the x-value in i) 7{ 214 %

part (c) relate to the graph?

Simplify each expression.

53. (ab® + bad) + (4a’b — ab? - Sab)  54. (9pq® — Lp*q) — (=5pg°+p'

= @55.

Real-World @ Connection

There were about 12 million
students enrolled in college in
1980, 13.8 million in 1990,
and 15 million in 2000.
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Graduation You can model the number of men and women in the United
St.ates wh'o enrolled in college within a year of graduating from high school
with the linear equations shown below. Let ¢ equal the year of enrollment, W

t = 0 corresponding to 1990, Let m(z) equal the number of men in thousand
and let w(r) equal the number of women in thousands.

m(f) = 354t + 1146.8

men enrolled in college
w(t) = 21.6r + 1185.5

women enrolled in college

a. Add the expressions on the r
number of recent hj
1990 and 1998.

b. Use the equation you created in
graduates who enrolled jn colleg

ight side of each equation to model the mtal,ee,
gh school graduates p(t) who enrolled in college b

actoring



